Coloca v resuelve:

329 + 216 782 — 155

D u C D u

408 + 617 519 - 2384

D u C D u

713 + 259 436 - 148

C D u C D u




Coloca v resuelve:

502 - 418 713 + 825

D u C D u

369 + 476 912 - 633

D u C D u

307 — 217 493 + 576

C D u C D u




Coloca v resuelve:

910 - 739 611 + 534

D u C D u

3812 - 365 324 - 189

D u C D u

820 + 517 cH48 + 713

C D u C D u




Coloca v resuelve:

Q11 -175 852 + 913

D u C D u

721 - 267 556 + 389

D u C D u

731 + 462 4238 — 256

C D u C D u




	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4

